S=5mm

A B R HEOREEE Y
TEIA—HAEVEHEIREEIEY I
FOLTHEYEZHEDBLTCREL,

NALYFEERLTCAART) 77 —LORET VY avE
EZRZ—DEEVUEZEZELZTOERINS L SICHRELET.

FIL AR AL Y FEEALEYS,

RESFE Y TAERSTAY, BHEY T
ARELTES, ZNHSTIRF VY
AN—ERAFET,

T=TWET=IVAN—ICELARET, 7—LOAENTOIBEET 2
£ TN DB CRBER B TEEW,

JAPANNEXT

Installation

Gas Spring Aluminum LCD Monitor Desk Mount

JN-GC12V

-90°/+85

e ~ Ve N a N\
/
( »\ 1 [ N ( 7> )
4@ m Rotate, >
\ /
. ~

EikeRPEE

360°




Warning

Prior to the installation of this product, the installation instruction
must be read and completely understood. Failure to do so may
result in personal injury, property damage or voiding of factory
warranty.

Do not install on a structure that is prone to vibration, movement
or chance of impact. Reinforce the structure as required before
installation.

The desk clamp can support a maximum thickness of 9 cm.
Confirm the desk edge before installation.

BB Bl P

Pay attention to the weight capacity of the mount. Exceeding the
limitation can result in function unworkable or even serious
personal injury and property damage.

A

Never operate the mount if parts are missing or damaged.
Contact your local service center for warranty service.

AR

180mm/7.1” | Max.340mm/13.4” ‘

7 AL
2 -45°/+23° ’%}&\\ -

«¥'€L-G G/UWO6E-OF |

Ty gy
0 TS M4x12 M4x20

12x5.5x6

. J
MER YA Ay FTL—FEEZR—DBICAN—Y—ZEANE T,
EBO2RDRIER T, BIBDTIHRSDICEIE L TIEEL,
EZZ—EAY FTL—MIBYTIFET,

o] ~ v
M4x12  M4x20

12x5.5x6

. J

ANY FT L= EEZA—DBIE AR —ZEANET,
TO2ERORIERY [ ED2RDR I ZHEDHET




TERNELTVWEEA

ﬂmmm@ “Umlmz@
M4x12 M4x20
%/@
B
\_ J
IS5y y 1Y —T7 1 ADBAS | FO2EROXYERYHIFEST, —B
WD, BEAR—ZAELBITEZZ—BEAY R7L— MIBY TIPET,
a
o o , \
M4x12 M4x20 ) Wlnmmm,m@
M4x12 (x4) M4x20 (x4)
12x5.5x6 (x4)
A
| ——
S=4mm (x1) S=5mm (x1)
&)
L M6x12 (x3) )
- ) @& «
B
- J @ sI—=¢
TOIADRIERIMF. LOIRDRIBHE TRO LIFET, L - bet) )

— 05 — — 02 —



\

ER ATV IT—LORE
Btk lc B IR EL,

J
T—LEBHTWBEET>THLET,
FRY 95 TR
a®
Méx12
A
%
S=4mm

\_

-

TR ISV TILTINIOBERMTET

TRI S TORER
NOMBEEZ CHELET.

J

UL oD EEEETNBE T, V5V T VEFRLTI SV TERBHET,

Xy kORI

-

BEDIADAXIVEED, T—TIVORIGBELET,
BOHI2RDAIEREDET



Btk JAPANNEXT $8&8 B EZY R— b+
TEL:050-5433-5533
SAB5H 10:00~17:00 (EFRE : ERE)

MAIL:support@japannext.net

T299-4301 TEERER—=H—= 2114-64




